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SECTION - A (@vs - 31)
Objective Type Questions / aXgfA< U

Question Nos. 1 to 50 have FOUR Options , Out of which Only ONE is CORRECT . You have to

mark your Selected Option, on the OMR Sheet . [50x1=50]
U GAT 1 A 50 9P IS 999 @ 91 IR fApey A W 2, o7 At 98 21 3wA
&R1 g1 A el fdwes a1 OMR e w® fR&ifsa Fifvr | [50x1=50]
1. Which of the following is NOT a Cash Outflow ?
(A) Increase in Creditors (B) Increase in Debtors
(C) Increase in Stock (D) Increase in Prepaid Expenses
=1 4 ¥ P19 W@ Aps dRkafz E R ?
(A) oFeERI ¥ afg (B) eI # afg
(C) v=famn 4 afg (D) ydea =i # afg
Sol. (A)
2. On Firm's Dissolution, which one of the following Account should be prepared at the last ?
(A) Realization Account (B) Partners' Capital Accounts
(C) Cash or Bank Account (D) Partner's Loan Account
B B GHYE 9R HEH 3 H Bl @ial 91 a1fed ?
(A) TR @ (B) WPl & Yoft @
(C) Ads U 9@ @ral (D) WTIERI &1 kOl Gl
Sol. (C)
3. Which of the following is NOT a "Not-For-Profit Organization" ?
(A) School (B) Hospital (C) Club (D) Partnership Firm
A A | P9 A1 EHEIR WIS F9 8 ?
(A) THe (B) 3T (C) o1 (D) wTEIe %
Sol. (D)
4. Which one is NOT the Feature of Partnership ?
(A) Agreement (B) Sharing of Profit
(C) Limited Liability (D) Two or More than Two Persons
P AR @ favar T8 7 ?
(A) oI (B) =¥ fawre=
(C) ifaa R (D) 21 a1 <1 | 3fde afh
Sol. (C)
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5. Which of the following is NOT the Source of Cash ?

(A) Purchase of Fixed Assets (B) Funds from Operations
(C) lssue of Debentures (D) Sale of Fixed Assets
fA=fafaa 9 S Ads &1 =g 81 8 7
(A) TS AT BT B (B) HdATEH A BN
(C) Fora=t &1 fAt= (D) <err¥ w6t 3wt
Sol. (A)
6. Premium on Redemption of Debentures Account is :
(A) Asset (B) Expenses (C) Liability (D) Revenue
FUOH B @A P IMeE ) WfHgm § o
(A) w¥fd (B) =aa (C) =i (D) 3
Sol. (B)
7. Payment of Credit Balance of Partner's Capital Accounts at the Time of Dissolution of a Firm is
made to:
(A) Partners (B) Firm (C) Wife (D) None of these
& faued & 9 9EERl & Yol U @ $fee A9 B YaE fhar o ¢
(A) ATEIERI B (B) WH Bl (C) =il @I (D) 379 q PIs L
Sol. (A)
8. The Excess of Average Profits over the Normal Profits are called :
(A) Super Profit (B) Fixed Profit
(C) Abnormal Profit (D) Normal Profit
A A 9R 3T o BT IR Bgerran § :
(A) 3rfems (B) fAf¥aa =y
(C) M oM (D) AWM o4
Sol. (A)
9. Consideration of Debenture is :
(A) Profit (B) Dividend (C) Interest (D) None of these
U9 &1 Ufawd ® -
(A) <H (B) <y (C) =aurs (D) ¥ A B e
Sol. (C)
10. Operating Ratio is :
(A) Profitability Ratio (B) Activity Ratio
(C) Solvency Ratio (D) None of these
HATeE Y ¥
(A) STMETRIGAT FUTT (B) ferarefieran srgura
(C) eNeHerHaT rguTa (D) ¥ A B e
Sol. (A)
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1.

Interest on Advance given to the Firm by Partners is :

(A) An Appropriation  (B) A Gain (C) ACharge (D) None of these
AEIERI @ R B4 @l A T 3w R e ® :
(A) faffare= (B) <4 (C) U9R (D) 39 A P el
Sol. (C)
12. Rate of Interest on Debentures is :
(A) 12% P.A. (B) 20 % P.A. (C) Fixed Rate (D) 15 % P.A.
OIS TR &Sl B &% Bl § -
(A) 12 % arfi® (B) 20 % drfie® (C) fAf¥=a == (D) 15 % darfi®
Sol. (C)
13.  The Ideal Current Ratio is : e AT YU B -
(A) 2:1 B) 1:2 (C) 3:2 (D) 3:4
Sol. (A)
14. Following are Included in Cash Equivalent :
(A) Treasury Bill (B) Bank Deposits of Short Maturity Period
(C) Trade Bill (D) All of these
s waged § wfAe & § -
(A) 2ot faa (B) ®H 9Rudadl dral S STH1
(C) =mR® faa (D) SwRiad Wt
Sol. (D)
15. Partnership Agreement is called :
(A) Prospectus (B) Articles of Association
(C) Principles of Partnership (D) Partnership Deed
AR A el § -
(A) ufdaor (B) urde Iraftaw
(C) et & figr (D) WEIER W™
Sol. (D)
16. Gaining Ratio is calculated :
(A) At the Time of Admission of a New Partner
(B) At the Time of Retirement of a Partner
(C) On the Dissolution of a Partnership Firm
(D) None of these
1 I U @ IO B RH ® G
(A) T T WEIER $ YA9 P Y (B) =il WEICR & 3A®Ie TS B UR
(C) WEieR! Bd & faufed @9 «® (D) 379 | B I
Sol. (B)
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17. At the Time of Dissolution of Firm, Book Value of Assets is Recorded on which side of the
Realization Account ?

(A) Debit Side (B) Credit Side (C) Liabilities Side (D) All of these
v & fQuea & g, sl &1 o o a9el Ox & fa ua | foran sran g ?
(A) Sfac ua (B) wfse ua (C) T g& (D) SuRIa |t
Sol. (A)
18. Current Ratio Includes :
(A) Stock (B) Debtors (C) Cash (D) All of these
a7 U # wnfAa § :
(A) D (B) IER (C) Aws (D) SuRIa |t
Sol. (D)

19. The Total Amount of Liabilities Side Includes :
(A) Authorized Capital (B) Issued Capital (C) Subscribed Capital (D) Paid Up Capital

TR 3 g wfd A afafea kit 2 -

(A) 3rfdpa Yol (B) frifia gt (C) wfda Yt (D) gepen gont
Sol. (D)
20. Which of the following Items is Considered as Cash Equivalents ?
(A) Bank Overdraft (B) Bills Receivables (B/R)
(C) Debtors (D) Short Term Investments
=14 3 ®I 9 Ads JE B ?
(A) 9% afafawd (B) urw faa1 (C) TR (D) 3reqaTena faffa
Sol. (D)
21. Cash Flow Statement is based on :
(A) Cash Basis of Accounting (B) Accrual Basis of Accounting
(C) Both (A) and (B) (D) None of these
Jps vare fagor nualRa 2 :
(A) AP B AdS MR IR (B) AW & IUTSIH 3MUR U=
(C) (A) T (B) S (D) $ ¥ BIg T
Sol. (A)
22, Operating Ratio is :
(A) Profitability Ratio (B) Activity Ratio
(C) Solvency Ratio (D) None of these
| U ¢
(A) TTHETIGT FFUTd (B) ferarefieran srgura
(C) eNEH &ra 3T (D) ¥ A B e
Sol. (A)
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23. On Dissolution, Goodwill Account is Transferred to the :

(A) Capital Accounts of Partners (B) Credit Side of Cash Account
(C) Debit Side of Realization Account (D) Credit Side of Realization Account
[EUE 9 I @i gk fhar o g
(A) WTEIERI & ol @ d (B) Ahs W & HfSc Uer |
(C) agett @ & Sfie uar # (D) gt @ & Hfde v #
Sol. (C)

24, Specific Donation is :

(A) Capital Receipt (B) Revenue Receipt
(C) Assets (D) None of these
fafere T 7 -
(A) YoiRTa grfed (B) 3 Ta Uit
(C) wwufa (D) 379 | P
Sol. (A)
25. If at the Time of Admission of New Partners, Profit and Loss Account Balance Appears in the

Books , it will be Transferred to :
(A) Profit and Loss Appropriation Account (B) All Partner's Capital Account

(C) Old Partner's Capital Account (D) Revaluation Account
I T AEIRR P YA S GHI GRIDI A M TN @R P DI WY T, A 3 FRIRA
far s -
(A) 99 BN FERSH 9 | (B) Wl WEeRI & Yoft @ #
(C) ¥ ARl & oft @n 4 (D) g @ #
Sol. (C)
26. On Dissolution of a Firm, Bank Overdraft is Transferred to :
(A) Cash Account (B) Bank Account
(C) Realization Account (D) Partner's Capital Account
B4 ® fAged R §& fAfawd 1 s=am=Ra &9 :
(A) JPps @A | (B) 9% W #
(C) a¥feht @ H (D) WEIGR & Yoft @ d
Sol. (B)

27. Total Assets X 7,70,000 ; Total Liabilities ¥ 2,60,000 ; Current Liabilities I 40,000 . Total Assets to
Debit Ratiois: el ¥Rl X 7,70,000 ; $el IMAE < 2,60,000 ; =T A T 40,000 . FeA
|Hf 0 UM T -

(A) 35:1 (B) 2.56: 1 (C) 2.8:1 (D) None of these

Sol. (A)
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28. As Per Table'F', the Maximum Rate of Interest on Calls in Advance is:

(A) 8% P.A. (B) 12 % P.A. (C) 5%P.A. (D) None of these
ARl 'F' @ AR, AR I R A DI AfFdaH R B
(A) 8% ufaad (B) 12 % wfaad (C) 5% ufaad (D) SH A P 7E
Sol. (B)
29. At the Time of Firm's Dissolution, Balance of General Reserve shown in the Balance Sheet is
Credited to :
(A) Realization Accounts (B) Creditor's Account
(C) Partner's Capital Account (D) Profit and Loss Account
B4 ® 9HYE @ 999, g | <9 W A 1Y w1 A9 wise fa o ®
(A) T @ A (B) FERI & @ H
(C) WEieRI & Yoft @ # (D) < B @ #
Sol. (C)
30. Which Accounts are Opened, when the Capitals are Fixed ?
(A) Only Capital Accounts (B) Only Current Accounts
(C) Liability Accounts (D) Capital and Current Accounts
AEER 3 GOt g 81 R 319 B9 9 @] 9 9§ ?
(A) ®aa Yol @™ (B) Bael dATe], @Il
(C) =R @ (D) GSh wd = @
Sol. (D)
31. Expenses on Dissolution of Firm is called :
(A) Realization Expenses (B) Legal Expenses
(C) Loss Expenses (D) None of these
®H P FEOH R A 9l qI B PeEd ©
(A) T =TT (B) &It =™
(C) wIfr e =™ (D) S99 | P =
Sol. (A)

32. Ideal Liquidity Ratio is :

e TR IFUE ®
(A) 2:1 (B) 1:1 (C) 5:1 (D) 4:1
Sol. (B)
33. A, B and C are Sharing Profits in the Ratio of : : .'C' Retired . Gaining Ratio will be :
A,BAMC :: & U § &% dfcd g1 'C' @S U0 Sl & | I gurd erm
(A) 2:1 (B) 2:3 (C) 3:2 (D) 1:2
Sol. (C)
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34. If the Total Assets are ¥ 4,05,000 and the Total Outside Liabilities are ¥ 55,000, then the Amount of
all Partner's Capital will be :

(A) % 3,50,000 (B) ¥ 4,00,000 (C) ¥3,75,000 (D) None of these
afe wH B Fa FERET T 4,05,000 B 9 Fl 9@T AFER 55,000 &, @ ARIERI @ Yon
 fd Bl
(A) % 3,50,000 (B) ¥ 4,00,000 (C) ¥3,75,000 (D) S A BIS el
Sol. (A

35. Cash Sales is :

(A) Operating Activity (B) Investing Activity
(C) Financing Activity (D) None of these
awe It & -
(A) afRarer foban (B) fafdrsm fiban
(C) fa=ita faban (D) & A B e
Sol. (A)
36. Profit on Cancellation of Own Debentures is :
(A) Revenue Profit (B) Capital Profit
(C) Operating Profit (D) Trading Profit
I B KOS B IE B A B drell A B
(A) ST 4 (B) Yo a4
(C) HaTed oY (D) |UIR® aATH
Sol. (B)

37. Gaining Ratio =

(A) New Ratio — Old Ratio (B) Old Ratio — Sacrificing Ratio
(C) New Ratio — Sacrificing Ratio (D) Old Ratio — New Ratio
Y 91 U, dRTER -
(A) 1 AFUEd — YRET I (B) YR IUTd — TN 3IJUTd
(C) =/ Ui — M 3IFuTd (D) YRTT U — AT Jgurd
Sol. (A)
38. Excess of Credit Side over the Debit Side in Revaluation Account is :
(A) Profit (B) Loss (C) Receipts (D) Expenses
I @i A e g & Sfie v R anfdam o FEd g -
(A) 4 (B) &4 (C) wifeq (D) =g
Sol. (A)

39. Goodwill is Paid out to the Retiring Partner in :
(A) Old Profit Sharing Ratio (B) Capital Ratio
(C) Gaining Ratio (D) None of these
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BT UBU] B didl FEER Pl &ifd & el 2 -

(A) QR @4 fawreE srgura A (B) Ysit Irgura H
(C) = uife 3rgura # (D) 37H ¥ P el

Sol. (C)

40. Which of the following is Correct Profit or Loss in case the Amount Received from the Sale is
340,000, Total Assets ¥ 50,000 , Total Liabilities ¥ 15,000 and Realization Expenses X 2,000 .
(A) 10,000 Loss (B) 7,000 Loss
(C) 20,000 Profit (D) ¥ 12,000 Loss

1 4 9 P9 @ 9 aget ow @ Tl 7, afe wwuftEl @t et @ gt wf¥r % 40,000 ,
wHfodt % 50,000 , Gl IR % 15,000 T ajelt & @ 32,000 & ?

(A) 10,000 =R (B) 7,000 =M
(C) 20,000 < (D) ¥ 12,000 BIA
Sol. (D)
4. Income and Expenditure Account generally indicates :
(A) Surplus / Deficit (B) Cash Balance
(C) Capital Fund (D) Net Profit / Loss
I TAT I Wl A=Al fearn % :
(A) 3nfdda/=rer (B) Jps AW
(C) Goft By (D) g€ /==
Sol. (A)
42, In the Absence of any Partnership Agreement, the Profit or Loss of the Firm are Divided :
(A) Equally (B) In Capital Ratio
(C) In Different Proportion (D) None of these
fodl Tusiia & 3vg ¥ AEieN) 4 © o9 v g@fa &1 Qe fear s 2
(A) SRTER TRTER (B) Ysht & Igura H
(C) fafe=1 srgura 4 (D) ¥ A B e
Sol. (A)
43. Profit and Loss Appropriation Account is Prepared to :
(A) Create Reserve Fund (B) Find out Net Profit
(C) Find out Divisible Profit (D) None of these
CICESIERERIEERCICIIEEIE G I
(A) I99 P 91 B ford (B) g& o FRerem & foR
(C) fawrsa amw fAgior & o (D) 37H ¥ B =l
Sol. (C)
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44, A, B and C are Partners in a Firm . If D is Admitted as a New Partner :

(A) OId Firm is Dissolved (B) OId Firm and Old Partnership are Dissolved
(C) Old Partnership is Reconstituted (D) None of these
A,BTIATC T BH § GEITR 21 Ife D A AEIER & ©9 ¥ 9d9 &l g, @ :
(A) gt w1 faEes @ (B) QR wH T QI WRIeR) &1 fawea g m
(C) gRrit wRier gwifed &t (D) T & B 7
Sol. (C)
45, Cash Flow Statement is Prepared from :
(A) Balance Sheet (B) Profit and Loss Account
(C) Additional Information (D) All of these
Aps vare faazur JarR fHa s 2
(A) i fag & (B) @™ T @ |
(C) faRaw a=nsh & (D) SURITd |t
Sol. (D)

46. Sundry Creditors Amounted to ¥ 9,000 . They were Paid at a Discount of 5 % . Realization Account
will be Debited by .

fafdy aFeR 39,000 A1 IF 5% BT W YA & T ageH @ a1 fde f& s

Al
(A) 9,000 (B) ¥8,550 (C) 450 (D) 9,450
Sol. (B)
47. Premium on Issue of Shares is a :
(A) Capital Gain (B) Capital Loss (C) General Profit (D) General Loss

e o1 SR W A '
(A) Yo a4 (B) YsiRa =1 (C) A= a4 (D) A= B4
Sol. (A)

48. On Dissolution of a Firm, Partner's Loan Account is Transferred to :
(A) Realization Account (B) Partner's Capital Account
(C) Partner's Current Account (D) None of these
B4 ® fAged R, IEIER B HU WA B SKAART BRI
(A) TR @ A (B) WIRIER & Yoil @ A
(C) WIEIGR & oI, @ A (D) 379 A PIs &
Sol. (D)
49. On Dissolution of the Firm, Partner's Capital Accounts are Closed through :
(A) Realization Account (B) Drawings Account
(C) Bank Account (D) Loan Account
%4 & fdged R AEER & Yo @[ 9= &3 @9 R
(A) Tl @I & AT | (B) 3MMERVI WA & HILgH A
(C) 9% W & HIeud WA (D) U W & HIWH A
Sol. (C)
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50.

Sol.

Sol.

Sol.

Sol.

Share of Goodwill Brought in Cash by the New Partner is called :

(A) Assets (B) Profit (C) Premium (D) None of these
T 9EIER §R1 96 | a8 T8 EIfQ dgar © -

(A) FHfa (B) &4 (C) faam (D) 37H | BIg =l
(9]

SECTION -B (@Wvs-9)
Non - Objective Type Questions / IR - a&jfAs yed
Short Answer Type Questions / &g IR 9%

Question Nos. 1 to 25 are Short Answer Type Questions . Answer Any 15 Questions . Each

Question Carries 2 Marks . [16x2=30]
U =1 1 W 25 oY Suag ued 21 fhdl 15 ueHl & Sw < | udS @ ford 2 3w fAuiRa
gl [15x2=30]

What is Realization Account ?

Il @Il /T g ?

Realization Account is Opened for Disposing Off All the Assets of the Firm and Making Payment
to All the Creditors . Realization Account is a Nominal Account and the Object of such an Account is
to find out the Profit or Loss on Realization of Assets and Payment of Liabilities .

What is Cash Flow Statement ?

s gare faavor @& g ?

A Cash Flow Statement is a Statement, Showing Inflows (Receipts) and Outflows (Payments) of Cash
during a Particular Period . In other words , it is a Summary of Sources and Applications of Cash
during a Particular Span of Time . It Analyses the reasons for Changes in Balance of Cash between
the Two Balance Sheet Dates . The Term "Cash" here stands for Cash and Cash Equivalents . A Cash
Flow Statement includes only those Items which Affect Cash .

Explain any TWO Limitations of Ratio Analysis .
U favawor H HIg I S B g BRI |

Accounting Ratios are Very Important Tool of Financial Analysis . But these Limitations should be
Kept in mind, while making use of Accounting Ratios :

(i) Limited Use of a Single Ratio : The Analyst should Not Merely Rely on a Single Ratio . He
should study Several Connected Ratios before Reaching a Conclusion . E.g. the Current Ratio
of a Firm may be Quite Satisfactory, Whereas the Quick Ratio may be Unsatisfactory .

(i) Window Dressing : Some Companies in Order to Cover Up their Bad Financial Position
Resort to Window Dressing, i.e. Showing a Better Position than the One which Really Exists.
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Sol.

Sol.

Sol.

Sol.

Give any TWO Features of Income and Expenditure Account .

I I W Bl BIs a1 fA9wan fafad |

Features of Income and Expenditure Account .
" Income and Expenditure account is Nominal Account for which the rule of debit and credit, is
debit all expenses or losses and credit all income or gain.

Expenditures are recorded at the debit side and income is posted at the credit side of this
account.

It records only revenue expenditure, capital expenditures are not recorded in it.

Income and expenditures are shown on accrual basis.

Excess of income over expenditure is known as surplus. In case of profit and loss account, it is

said as net income.

Give any TWO Characteristics of a Company .
F P Q1 faAvand gaEd |

Characteristics of a Company :

(i) Perpetual Existence : The Existence of a Company is Not Affected by the Retirement ,
Death , Lunacy and Insolvency of its Members . Shareholders may Come and Shareholders
may Go, but the Company Goes On For Ever, Unless Wound Up according to Companies
Act.

(i) Common Seal : Since the Company has No Physical Existence , it must Act through its
Agents, called Directors . All Documents Prepared by the Directors must have the Seal of the
Company . The Common Seal Acts as the Official Signature of the Company .

Write the Circumstances under which a Firm is Dissolved .

I el B forfd e sfa »d o wwifa & i 21

Circumstances for Dissolution of a Firm :

(i) Compulsory Dissolution (Sec. 41) : A Firm is Compulsory Dissolved in the following cases
(a) When All or But One Partner of the Firm becomes Insolvent .
(b) When Business of the Firm Becomes Unlawful .

(i) Happening of an Event (Sec. 42) : A Firm may be Dissolved on the Happening of Any ONE
of the following Incidents :

(a) On the Insolvency of a Partner .
(b) On the Fulfilment of the Object for which the Firm was Formed .

(c) On the Expiry of the Period for which the Firm was Formed .

What is Goodwill ?
fa & g ?

Goodwill is the Value of the Reputation of a Firm , which Enables it to Earn Higher Profits in
Comparison to the Normal Profits, Earned by Other Firms in the Same Trade . "The Term Goodwill
is Generally Used to Denote the Benefit Arising from Connections and Reputation” .
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Sol.

Sol.

10.

Sol.

Anil and Sunil are Partners, Sharing Profits in the Ratio of 4 : 1 . They Admit Vijay into Partnership
with 1/3rd Share in Profits, which He Acquires Wholly from Anil . Find out the New Profit Sharing
Ratio.

e SR gt 41 4 o died gA WEER 21 98 fas/ @ el § 1/3rd 4R @R |IEIER
T 2, O ot a8 avgul wu 9 AIfFa @ | FRa B 1 T A R egue S| s |

Anil Sunil Vijay Total
Old Ratio 4 1 _ ’
5 5
New Ratio 4_1 = 12-5 3 1 or S
5 3 15 15 3 15
New Ratio = 7:3:5.

Define Share. State its Types.
39 ot gRU AR | 39D UBRI P Iasd |

Total Capital of the Company is Divided into Units of Small Denominations . Each such Unit is
called "Share" . E.g. If the Total Capital of the Company is I 10,00,000, Divided into 1,00,000
Units of ¥ 10 each, then each Unit of ¥ 10 will be called a Share of ¥ 10 each .

Under Section 43 of the Companies Act, 2013, a Company may Issue TWO Types of Shares :

(i) Preference Shares (i) Equity Shares

Give FOUR Examples of Not-for-Profit Organization .
JATHHRT ALRASI & IR ISRV S |

Voluntary Organisations formed to promote certain Cultural , Recreational , Religious , Political,
Educational , Medical and Professional Activities are known as Non-Profit or Non-Business
Organisations or Non-Profit Entity or Not-For-Profit Organisations . These Organisations are formed
with Service Motive . Examples of such organisations are as under :

" Delhi Public Library

Mohammedan Sports Club

Delhi University Students Union

Free Aid Medical Society.

The Institute of Chartered Accountants of India

The Institute of Cost and Works Accountant of India

Resonance”’
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1.

Sol.

12,

Sol.

13.

Sol.

Distinguish between : Sacrificing Ratio and Gaining Ratio .
M U Ta Ui o9 3 =R qarsd |

Distinction between Sacrificing Ratio and Gaining Ratio

Basis of
Difference Sacrificing Ratio Gaining Ratio

It is the Ratio in which the OId | It is the Ratio by which the Remaining
Partners Surrender a Part of | Partners Acquire the Outgoing (Retired

their Share in Favour of New | or Deceased) Partner's Share .
Meaning Partner .

Sacrificing Ratio is Calculated at | Gaining Ratio is Calculated at the Time
When the Time of the Admission of a | of the Retirement or Death of a Partner .
Calculated New Partner .

Formula for Calculating this | Formula for Calculating this Ratio is :
Ratio is :
Formula for Gaining Ratio =

Calculation Sacrificing Ratio =
New Ratio — Old Ratio

Old Ratio — New Ratio

How would you Calculate the Due Amount Payable to the Successor of Deceased Partners ?

qd 9EIeR & SARMABI Bl S A &l 01 39 A PRI 7

Calculation of the Total Amount Due to the Representatives of the Deceased Partners :

On the Death of a Partner, Accounts in the Books of the Firm are Maintained in the Same Way as on
the Retirement of a Partner . Thus the Legal Representatives of the Deceased Partner are Entitled to
Claim the following Amounts , which are Credited to His Capital Account .

(i) The Amount Standing to the Credit of His Capital Account .

(i) His Share of the Increase in the Value of Goodwill of the Firm .

(iii) Interest on Capital , if Provided in the Partnership Deed .

(iv) His Share of Profit on the Revaluation of Assets and Liabilities .

(v) His Share of the Undistributed Profits or Reserves .

(vi) His Share of Profit upto the Date of His Death .

The following Amounts will be Debited to the Account of the Deceased Partner for Ascertaining the
Amount Due to His Legal Representatives .

(i) Drawings and Interest on Drawings .

(i) His Share of Loss on the Revaluation of Assets and Liabilities .

(iii) His Share of Undistributed Loss, Such as Debit Balance of Profit and Loss Account .

(iv) His Share of the Reduction in the Value of Goodwill .

What is Forfeited Shares Account ? How and When it is Closed ?

Y I Wl R 2 ? IS DY AR B9 g b o g ?

If Any Shareholder Fails to Pay the Amount Due on Allotment or on Any Call Within the Specified
Period, the Directors may Cancel His Shares . This is called "Forfeiture of Shares" .

Resonance”’
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The Amount Already Paid by the Defaulting Shareholder is Credited to "Share Forfeiture Account" .

After the Re-issue of Forfeited Shares, the Credit Balance Left in the Share Forfeiture Account is a
"Capital Gain" to the Company and must be Transferred to "Capital Reserve Account .
The Journal Entry for such Transfer will be :

Share Forfeiture Alc. Dr.

To Capital Reserve Alc.

(Transfer of Share Forfeiture A/c. to Capital Reserve A/c.)
It should be clearly understood that, if All the Forfeited Shares are Not Re-Issued , Only that
Proportion of Share Forfeiture Account which belongs to the Re - issued Shares should only be
Transferred to Capital Reserve Account .

14. What is Non-Cash Item ?
R AP A< A ded 8 ?

Sol. When a Transaction Does Not Involve, Either Inflow or Outflow of Cash, the Item is Called Non-Cash
Item . E.g., Depreciation, It Does Not Reduce Cash .

15. What is Revaluation Account ?

YIS STl R’ R ?

Sol. Revaluation of Assets and Liabilities is done with the Help of a New Account, Called "Revaluation
Account" . Sometimes this Account is called as "Profit and Loss Adjustment Account" . This
Account is a Nominal Account in Nature . Therefore , if there is a Loss due to Revaluation ,
Revaluation Account is Debited and if the Revaluation Results in a Profit , the Revaluation Account is
Credited .

16. Name any TWO Methods of Calculating Goodwill .

@fa T B4 ot < fafea & A ford |

Sol. Following are the Methods of Calculating Goodwill :
(i) Average Profit Method
(i) Super Profit Method
(iii) Capitalization Method

17. What are the Limitations of Analysis of Financial Statement ?
faha Qo @ fAvavo @t w0 H=W & ?

Sol. Financial Analysis Help the Interested Parties to make an Assessment of the Earning Capacity and
Financial Soundness of a Business Enterprise . But such Analysis has its Own Limitations . Such
Limitations should be kept in mind while using the information provided by the Financial Analysis .
Some of the Limitations of Analysis of Financial Statement are :

(i) Difficulty in Forecasting .

(i) Lack of Qualitative Analysis .

(iii) Affected by Window Dressing .

(iv) Different Accounting Policies .
Resonance®
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(v) Do Not Reflect Changes in Price Level .
(vi) Effect of Personal Ability and Bias of the Analyst .

(vii)  Limited Use of Single Year's Analysis of Financial Statements .

18. What is Debt-Equity Ratio ?
FOI- 3T I FT & ?

Sol.  This Ratio measures the Ability of the Firm to meet its Long Term Liabilties . It Indicates the Funds
Provided by Long Term Lenders in Comparison to the Funds Provided by the Owners , i.e.
Shareholders

: . Debt Long Term Debts
Debt Equity Ratio = =
aury Equity Shareholder's Funds
19. What do you mean by "Proposed Dividend" ?
"gRIfad I W 39 1 FHSI § P

Sol. Proposed Dividend is the Dividend to be Distributed among the Shareholders of the Company
during a Financial Year, which will be Paid in the Next Year . The Final Dividend is Proposed by
the Directors of the Company only when the Final Accounts are Finalized .

20. What Journal Entry will be made in the Books of a Company for an Issue of 5,000, 15 %
Debentures of ¥ 100 each at Par and are Redeemable at a Premium of 5 % .

N D TP A R®T G gfafie @t Sl R 100 @@ 5,000, 15 % RUGA WEYRE W
ifia f& ™ 2 3R 391 YA 5% NPT o g 8 ?

Sol.

JOURNAL
Date Particulars L.F. Dr. ) Cr(®
(i) Bank Alc. Dr. 5,00,000
To 15 % Debenture App. & Allotment A/c. 5,00,000
(15 % Debentures Issued)
(iif) Debenture Application & Allotment A/c. Dr. 5,00,000
Loss on Issue of Debenture A/c. Dr. 25,000
To 15 % Debentures 5,00,000
To Premium on Redemption of Debentures 25,000
(Discount on Debentures @ 5 %)

21. Explain the Accounting Treatment at the Time of Dissolution of a Partnership Firm of the Assets
and Liabilities, Not Already Recorded in the Books of the Firm .

BH B FHYA b 99T FHfAAl U9 Sl b, fore wH @l afedl 4 99 R wn g @
AP SUAR Bl AT |
Sol. ACCOUNTING OF UNRECORDED ASSETS AND LIABILITIES :

UNRECORDED ASSETS : It may possible that a fixed assets like plant has been completely written
off from the books of accounts but it exists physically and has realisable value at the time of dissolution
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of firm. Otherwise also, some assets might not be recorded in the books but they do have realisable
value at the time of dissolution of firm. The entry passed for these assets will be as under :

(a) On Realisation of Cash from Unrecorded Assets :
Cash / Bank A/c Dr.
To Realisation A/c
(b) If Unrecorded Assets are Taken over by a Partner :
Partner's Capital A/c Dr.

To Realisation A/c

UNRECORDED LIABILITIES : During the course of dissolution of firm, contingent liability or other
liabilities may materialise. Since these have not been provided for in the books so payment has to be
made for these liabilities. The entries passed are as under :

(a) Cash payment for unrecorded liability :
Realisation A/c Dr.
To Cash/Bank Alc

(b) If unrecorded liability is taken over by a partner :
Realisation A/c Dr.
To Partner’s Capital A/c

Note : Both Unrecorded Assets and Unrecorded Liabilities will NOT be Transferred to Realisation
Account as these are NOT the Parts of the Balance Sheet .

22. Give TWO Effects of Admission of a New Partner .
Uh I AEIER & 99 & g1 Y9 qarsd |

Sol. At the Time of Admission, the New Partner brings His Share of Goodwill and Capital . Old Partners
Sacrifice a Share of their Profits in His Favour and Thus He Gets a Share in the Future Profits of the
Firm . Following Adjustments are needed at the Time of the Admission of a New Partner .
(i) Calculation of New Profit Sharing Ratio .
(i) Accounting Treatment of Goodwill .
(iii) Accounting Treatment for Revaluation of Assets and Liabilities .
(iv) Accounting Treatment of Reserves and Accumulated Profits .
(v) Adjustment of Capitals on the Basis of New Profit Sharing Ratio .

23. What is Employee Stock Option Plan (ESOP) ?
FHAR! i fAdey drorm a7 8 ?

Sol. Under Section 62 (1) (b) of the Companies Act, 2013 , a Company may Offer Shares to its
Employees under a Scheme of "Employee Stock Option" by Passing a Special Resolution at the
General Meeting of the Company . Employee Stock Option means the Option (Right and Not an
Obligation) given to the Whole Time Directors , Officers and Employees Right to Purchase or
Subscribe at a Future Date , the Securities Offered by the Company at a Pre Determined Price, which
Usually is Lower than the Market Price .

24, A and B are Partners, Sharing Profit in the Ratio of 4: 1. A Surrenders 1/4w of His Shares and
B Surrenders 1/2w of His Share in Favour of C, a New Partner . What is the Sacrificing Ratio and
the New Sacrificing Ratio ?
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AT B WIIGR 8, Wl @4l BT 4:1 & U ¥ dicd Bl A 30 R BT 1/4n ¥R R B
391 BRI BT 1/20 YR C, T& U AEER & 98 § TN Pl g1 A1 @R BT Jgura AR 741

N U 91§ ?

Sol.
A B C Total
Old Ratio 4 1 — 1
5 5
New Ratio 4_4 1_1 6 i+i
5 20 5 10 20 (20 10
16-4 4-2 4+2
— = — =
20 20 20
12 = 2 = 6 = New Ratio
20 20 20
Sacri. Ratio 1of 4 = 4 1 of 1 = 1 or 2
4 5 20 2 5 10 20
New Ratio = 12 : 2 :6 = 6:1:3
Sacrificing Ratio = 4:2

25. What is Endowment Fund ?
wafda Afa a1 snuR @y ®&1 8 ?

Sol. Endowment Fund : Funds providing Permanent means of Support are known as Endowment
Fund. In the words of Eric L. Kohler, "It is a Fund, Arising from a Request or Gift, the Income of
which is Devoted for a Specific Purpose". Therefore , it is a Capital Receipt , because the Fund
Provides Permanent Source of Income . It should be Capitalised and Shown at the Liabilities Side . It
is shown at the Debit Side of Receipt and Payments Account .

Long Answer Type Questions / € ST U3
Question Nos. 26 to 33 are Long Answer Type Questions . Answer Any 4 Questions . Each
Question Carries 5 Marks . [4x5=20]
e A& 26 W 33 e Suig uwH 2] B 4 9wl B 9wk & | e @ o 5 3w fAuiRa
gl [4x5=20]

26. What Journal Entries will be made for the following Transactions on the Dissolution of a Firm :

(a) Payment of Unrecorded Liabilities ¥ 3,200 .
(b) Stock Worth % 7,500 is taken by a Partner Rohit .
(c) Profit on Realization Amounting to ¥ 18,000 is to be Distributed between Partners Ashish
and Tarun in the Ratio of 5:7.
(d) An Unrecorded Asset Realized ¥ 5,500 .
Resonance®
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B4 & faged R A9 gaeRl B & AoEEEn ¥ gfafedi S SRl
(a) R fiefEa IR &1 Y@ < 3,200 .
(b) WEIER ARG gR1 27,500 B weid B foran S|

(c) IGell TR A Pt AR T 18,000 Pl ASITR ARMY 3R TR & 5:7 & IJgUd H
fawfora favan

(d) IR s aRE=fl & 35,500 o a=gelt g8 |

Sol.
JOURNAL

Date Particulars L.F. Dr. ) Cr(®

(a) Realization A/c. Dr. 3,200

To Bank/Cash Alc. 3,200
(Payment of Unrecorded Liabilities)

(b) Rohit's Capital Alc. Dr. 7,500
To Realization Alc. 7,500
(Stock taken by Rohit)

(c) Realization Alc. Dr. 18,000
To Ashish's Capital Alc. 7,500
To Tarun's Capital Alc. 10,500
(Profit Distributed in Partners)

(d) Cash/Bank Alc. Dr. 5,500
To Realization Alc. 5,500
(Unrecorded Asset Realized)

27. Describe the Objectives of Cash Flow Statement .
ps Ydre faaxv & I B1 quiv BIfSR |
Sol. Cash Flow Statement :

A Cash Flow Statement is a Statement Showing Inflow and Outflow of Cash and Cash
Equivalents from Operating, Investing and Financing Activities of a Company during a Specific
Period . It indicates the Sources from which Cash is Generated and also the Uses to which Cash is
PutiIn.

Preparation of Cash Flow Statement :

It should be prepared and reported by the Indian enterprises as per AS-3 (Revised) issued by the
Institute of Chartered Accountants of India.

Main Objectives of Preparing Cash Flow Statement :

(i) To Ascertain the Sources (Receipts) of Cash and Cash Equivalents from Operating,
Investing and Financing Activities of the Enterprise .

(i) To Ascertain the Applications (Payments) of Cash and Cash Equivalents Under Operating,
Investing and Financing Activities of the Enterprise .
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(iii)

To Ascertain the Net Change in Cash and Cash Equivalents i.e. The Difference between

Sources and Applications, Under the Three Activities between the the Dates of Two
Consecutive Balance Sheets .

(iv)

To Highlight the Major Activities that have Provided Cash and that have Used Cash

During a Particular Period and to Show Their Effect on the Overall Cash Balance .

28. How would you Treat the following Items in the Case of a Non - Trading Organization ?
TP IATPRI G d ford 3y A= #e) & Rafa 94 59 9yeR =gagr &3 ?
(%)
—Tournament Fund (@ fafe) 40,000
—Tournament Expenses (@dl <a3) 14,000
—Receipts from Tournament (We | WIf%T) 16,000
Sol.
BALANCE SHEET
Liabilities 4 Assets 4
Tournament Fund 40,000
Add : Receipts from
Tournament 16,000
56,000
Less : Tournament
Expenses 14,000 42,000

29,

Distinguish between : "Receipts and Payment Account" and "Income and Expenditure Account" .

"I Qa Y @R Il I - Rl H SRR garsd |

Sol.

Difference between

Receipt and Payment Account and Income and Expenditure Account

Bases of Difference

Receipt and Payment Account

Income and Expenditure Account

1. Form

It is a summary of cash book.

It is a summary of profit and loss account.

2. Nature of account

It is a real account.

It is nominal account.

3. Sides

Its left hand side is receipts and right hand
side is payment

The left hand side is expenditure and the
right hand side is income.

4: Balance

5. Capital and revenue

It starts with opening balance of cash and
ends as showing closing balance of cash.

It records receipts and payments of both

It does not start with opening balance of
cash and does not show closing balance of
cash.

It records income and expenditure of

items capital and revenue nature. revenue nature only.
6. Amount It records all the cash receipts and It records all income and expenditure of the
payments, whether relating to current year | current year on accrual basis.
or previous year
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30. Sonali and Rupali are Partners in a Firm with Capitals of ¥ 6,00,000 each . They decided to Admit
Rakhi as a Partner with 1/4n Share in the Profits of the Firm . Rakhi brings ¥ 8,00,000 as Her
Share Capital . Their Profit and Loss Account shows a Credit Balance of ¥ 4,00,000 as on the
Date of Admission . Pass Necessary Journal Entries on Rakhi's Admission .

HiFlell Td WUl Uh ®H § WIEIER ¥ SR Udd @t ol 26,00,000 ¥l SEIM I B
BH B A H /4y TN B FA GRIGR d9M b1 [Avem R ad omm R @ oht @
w9 H 78,00,000 @ 21 AW @t fAfy wr omw =R @R B S AW T 4,00,000 B WS B
YT UR 3D ASHHD P ufafeedi w |

Sol.
JOURNAL
Date Particulars L.F. Dr. ) Cr(®
(i) Profit and Loss Alc. Dr. 4,00,000
To Sonali's Capital Alc. 2,00,000
To Rupali's Capital Alc. 2,00,000
(Being the Profit Distributed Equally in Old Partners)
(ii) Cash/Bank Alc. Dr. 8,00,000
To Rakhi's Capital Alc. 8,00,000
(Being Rakhi Admitted as New Partner)
(iii) Rakhi's Current A/c. Dr. 2,00,000
To Sonali's Capital Alc. 1,00,000
To Rupali's Capital Alc. 1,00,000

(Hidden Goodwill Valued ¥ 8,00,000 and Rakhi is
Not able to bring its Share in Cash)

Working Note :
Calculation of Hidden Goodwill :
Rakhi = 1/4 ¥ 8,00,000
Capital of Firm = ¥ 8,00,000 x 4 = ¥32,00,000

Sonali Rupali
Capital ¥ 6,00,000 ¥ 6,00,000
Profit and Loss ¥ 2,00,000 ¥ 2,00,000

< 8,00,000% 8,00,000

(1:1)

Total Capital : Sonali +  Rupali + Rakhi
8,00,000 + %8,00,000 + <8,00,000 = ¥ 24,00,000
Hidden Goodwill : ¥32,00,000 — ¥ 24,00,000 = ¥8,00,000

Rakhi's Share in Goodwill = % x ¥8,00,000 = ¥2,00,000
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31. Show the Entries made at the Time of Dissolution of a Firm.

B4 & faacd & 9Hg H oA 9ren ufafedi @A |

Sol.

ACCOUNTING TREATMENT IN CASE OF DISSOLUTION :

Dissolution discontinues business activities, so we are required to close the books of accounts.
Nominal Accounts are closed by transfer to P/L A/c. These accounts do not have any balance. Real
and Personal Accounts show balance and Balance Sheet is prepared with these items. We are thus
required to close the accounts appearing in the Balance Sheet. The process of accounting treatment
starts with the following journal entires as follows:

(a)

(b)

(c)

(d)

(e)

(f)

(9)

(h)

For transfer of sundry assets to realisation Al/c
Realisation A/c Dr.
To Sundry Assets Alc

For transfer of sundry liabilities to realisation A/c
Sundry Liabilities A/c Dr.
To Realisation Alc

For sale or disposal or auction of assets
Cash /Bank Alc Dr.
To Realisation Alc

For payment of liabilities
Realisation Alc Dr.
To Cash Alc

For expenses on realisation or liquidation or winding up expenses

(i) If expenses are paid by firm on its own behalf
Realisation A/c Dr.
To Cash or Bank Alc

(i) If expenses are paid by the partner on behalf of the firm
Realisation A/c Dr.
To Partners’ Capital Alc

For transfer of loss on realisation account to partners’ capital accounts
Partners’ Capital A/cs. Dr.
To Realisation Alc

For transfer of profit on realisation account to partners’ capital accounts
Realisation A/c Dr.
To Partners’ Capital Alcs.

For refund of partners’ capital balance
Partners’ Capital A/c Dr.
To Cash Alc
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landl
2 6

Surrenders 2/3w« of His Share in Favour of B and Remaining in Favour of C.
Calculate New Ratio and Gaining Ratio .

A B @I C Wm?%,ﬁ%mqﬁaﬁaﬁg,%am%ﬁﬁeﬁ%l A ST WEO fba

32. A, B and C were Partners, Sharing Profit and Loss in the Ratio of % , . A Retires and

qAT 3 A B 2/3« MR B & Y&l § T A9 C & uel H QN fdhan|
T U TAT N UK U Bt 01 B |

Sol.
A B C Total
Old Ratio 2 3 1 1
6 6 6
New Ratio X §+§=9+4 1+1=3+2
6 9 18 6 9 18
18 18
Gaining Ratio X 2 of 2.2 1 of 2_.2_1
3 6 9 3 6 18 9
New Ratio = 13 : 5
33. Explain Who are Interested in the Analysis of Financial Statements and Why ?

faa faawol & favaiyor § B9 P9 tgdR ©fY Y@ g AR @ ?

Sol. Meaning of Analysis of Financial Statements :
Analysis of Financial Statement is a Systematic Process of Analysing and Evaluating the Relationship
between the Items of the Balance Sheet and Income Statement . Hence, Financial Analysis Reveals
the Financial Strength and Weaknesses of the firm . Financial Analysis includes Both Analysis and

Interpretation .

Significance of Financial Analysis :

(i) Significance for Creditors : Creditors include short-term creditors like bankers, trade
creditors and also long-term credit grantors like debenture holders and financial institutions
etc.

(i) Significance for Management : Management of a concern is interested in its financial

condition, profitability and progress. It uses a number of methods, tools and techniques
available to it to analyse the financial data.

(ili)  Significance for Investors : Investors and shareholders are the suppliers of the basic capital
to run the concern. Such capital is exposed to all the risks of ownership. Investors are
interested in the profitability, dividends declared and market value of their holding.

(iv)  Significance for Employees : Employees can judge, on the basis of analysis of financial
statements, the profitability of the business enterprises. They can compute as to how much
bonus and increase in their wages are possible from the profits of the business concern.
Financial analysis also helps the trade union in negotiating wages agreements.

(v) Significance for Government : Financial statement analysis provides useful information to
various government departments like Income Tax, Sales Tax, Excise Duty etc. to determine
tax liability of the concern.

Disclaimer Clause : These Solutions are prepared by the Expert Faculty Team of RESONANCE .
Views and Answers provided may differ from BIHAR BOARD due to difference in assumptions taken in support of the answers .
In such case answers as provided by “BIHAR BOARD” will be deemed as final .
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